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MuLripLE CHOICE QUESTIONS battle of Plassey ?

: , Clive

When di S " (a) Robert .

(@) 1;1071d Auran{,?)blixgs? ' “(b) William Bentinck:

(©) 1708 : (d) 1706. : (9 Warren Hastings

A.D.? B dled . 1756 4. Which Nawab of Bengal was defe ate
(a) Sirajuddaulah (b) Mir Qasim ~ in the battle of Buxar ? .

(c) Mir Jafar ~ (d) Alivardi Khan =~~~ @ M}r Jafar ~ - (b) Sirajuddaulah
Who defeated Sirajuddaulah at the . - (©) Mir ‘Qasir,n ! | i3

: (d) Murshid Quh Khan

. N_m,...,,;.g”
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Who was Peshwa ?

After which battle the company
appointed vesidents in the Indian
states?

() Battle ot Plassey

(1) Battle of Buxar

() Battle of Awadh

(d) None ol these

Who granted Diwani rights ot Bengal
to the British ?

(@) Mir Qasim

(1) Murshid Quli Khan

() Mir Jatar

(d) Mughal Emperor Shah Alam

Who was the son of Haider Al ?

(@) lipu Sultan (1) Mir Jalar

(©) Alivardi Khan (d) Mir Qasim
Which ruler of Mysore stopped the
export of many things through the
ports of his kingdom 2, |
(@) Haider Ali (b) Alivardi Khan

(©) Tipu Sultan  (d) Mir Jafar

(a) Principal Minister of Marathas
(b) King of Marathas

(¢) King of Awadh

(d) None of these

Who was the Governor-General of the

East India Company from 1813 to
1823 ?

() Lord Dalhousie

(b) Lord Hastings

(¢) Lord Wellesley

(d) Lord William Bentick

Who initiated the policy of"

Paramountcy ?

(a) Lord Wellesley

(b) Robert Clive

(¢) William Bentinck

(d) Lord Hastings.

Which of these states was annexed
through the Doctrine of Lapse?

(a) Satara (b) Nagpur

(¢) Jhansi (@) All of these

- suicide ?

13, With which country the Fast India

Company fought a prolonged battle
from 1838 till 1842 A.D. ?

(1) Afghanistan (b)) Russia
(¢) India () Tran

Answer-Sheet

2. () 3, (a) 4. (¢)
7. (a) 8. (©) 9. (a)
12, () 13.(a)

Very Suort Answer Tyer QQUESTIONS

Q.1. Who was the last powerful
Mughal emperor of 18th century?

Ans. Aurangzeb.

Q.2. When did Aurangzeb die ?

Ans. In 1707 A.D.

'Q.3. What was the reason of emergence
of European Trading Companies in India ?
Ans. Decline of Mughal Empire.

Q.4. In which province did the East
India Company begin its trade ?
' Ans. From the province of Bengal.

Q.5. Who appointed the company as
the Diwan of Bengal and when ? '

Ans. Mughal Emperor in 1765.

Q.6. When was the battle of Buxar
fought ? ' -

Ans. In 1764 AD.
Q.7. When did Robert Clive commit

. (2)
0. (d)
L1 ()

5. (b)
10. (b)

Ans. In 1774 AD..

- Q.8. Who was the Governor-Genera
of India in 1798-1805 A.D. ?

© Ans. Richard Wellesley. ,

Q.9. When Haider Ali ruled ove
Mysore 7 :

Ans. From 1761 1o 1782 A.D.

Q.10. When did Tipu Sultan rule ov
Mysore ? .

Ans. From 1782 to 1799 A.D.

Q.11. When Tipu Sultan stopped t
export of perishable things through the po
of his kingdom ?

Ans. In 1785.
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MuLnipLe CHoice QUESTIONS

1. The British received the Diwani of
Bengal in ..............
(a) 1764 (b) 1765
(c) 1766 (d) 1767

2; A terrible famine occurred in Bengal
It % .
(a) 1670 (b) 1770
(c) 1870 (d) 1970

3.
................ million people were killed.
@5 (b) 10
(© 2 (d) 30

4. The Permanent Settlement System
passed in ....

(a) 1792 (b) 1793
(c) 1892 (d) 1893

- 8. The Permanent Settlement System was
associated with ......

(@) land revenue
(b) military organisation
(¢) political ‘influence
(d) all of the above &
6. In Permanent Settlement System who
were recognised as zamindars? -
(a) the rajas (b) the taluqdars
(c) both (a) and (b)
(d) the peasants
7. Munro System wag introduced jp
................ India.

Ruling the Coun

In the famine of 1770 in Bengal about

gryside

() Wwest
(d) south
was trying !

£ venee
tivation )
expand the cul (b) indigo

(a) opium ‘
(c) both (a) and (b)

(d) rice
Indigo was being

manufacturers.
(a) cloth
(c) metal

Which syste j
indigo cultivation :

(a) Nij (b) R/Od
(c) Both (a) and (b)

(d) None of the above
The Blue Rebellion is assmmted with

(l) ] dg'

(c) North
The Company

its best to

oooooooooo

used by

0.
(b) winc A
(d) a1l of the above

m was associated wnth
10. i

11,
Croppers.
- (a) indigo

(c) rice

(b) opium
(d) wheat
Answer-Sheet

2. (b) 4. (b)
7.(@ 9. (a)

5. (a)
10. (¢)

3. (b)
8. (c)

1. ()
6. (¢)
11. (a)

VERY SroRT Answer Typg

- Q.1. When
Diwani of Bengal 2

Ans. The British 1
Ot t o
Bengal on 12 August, 176§ he Diwani o

QursTion
did the Bntxsh get th



Q.2. On behall of the British who
yecepted the Diw ani of Bengal from the
aughal raler in 1765 ?

Ans. On behall of the British, Rohcnl
Clive accepted the Diwani of Bengal from the
mughal ruler in 1764

Q.3. What was mahal ?

Ans. 1n British revenue records, mahal
was a revenue estate which may be a village or
a group ol villages

Q.4. Who introduced the system of

not\\.xn ?

Ans. Captain /\10\.\11(10\ Rwd introduced
(he system of ryotwari.

Q.5. What was ryotwari ?

Ans. Ryotwari was a revenue settlement
system directly between, the peasants (ryots) and
the Company. ‘

Q.6. What was the Munro system

Ans. It was a land revenue system
between the peasants and the Company in South
India.

SOCIAL SCIENCE
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Q.13. What was ryoti?

Ans. Cultivation of indigo on ryot’s land
was called ryoti.

Q.14, In India who cut the indigo
plant?

Ans. In India the indigo plant was cut
mainly by men.

Q.15. On what sort of land did the
planters insist the croppers to grow indigo?

Ans. 'The planters insisted the croppers
(o grow indigo on the best soil.

Stuort Answer TYPE QUESTIONS

Q.1. How did the company become the
Diwan of Bengal ? ‘

Ans. On 12 August, 1765, the Mughal
Fmperor appointed the East India Company as
the Diwan of Bengal. As Diwan, the Company
became the Chief Financial Administrator of
the Territory under its control. Now it had to
think of administering the land and organising

it revenue resources.

Q.7. For which two crops»ﬂle Company

was making its best efforts ?
Ans. Opium and indigo.
Q.8. Who was William Morris ?

Ans. William Morris was a famous poet

and artist of the 19th century.
Q.9. Why was indigo being used ?
Ans. Indigo was being used by cloth
manufacturers in Italy, France and 'England to
dye cloth

Q.10. Why did the cloth dyers
preferred indigo ?

Ans. The cloth dyers preferred indigo as
a dye because it produced a rich blue colour.

Q.11. Name two systems of indigo
cultivation.

Ans. There were (wo main systems of

indigo cultivation-nij and 1'yoti.
Q.12. What was nij ?

Ans. Cultivation of indigo on planter’s
own land was called nij.

Q.2. What effect did it put on the
economy of Bengal when the company
became the Diwan of Bengal ?

Ans. There are some effects—

(1) The Bengal economy was facing a
deep crisis.

(2) Artisans were dcsertmo villages since
they were being forced to sell their 200ds at

* cheap rates to the company.

3) Peasants were unable to pay the dues
that were being demanded from them.

(4) Artisanal production was in decline
and agriculture cultivation ‘showed signs of
collapse.

Q.3. Write the problems created by the
Permanent Séttlement.

Ans. The problems created by the
Permanent Settlement are as following—

(1) Company officials soon discovered
(hat the zamindars were in fact not investing in
{he improvement of land. '
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Land, Soil, Water, Natural 'Vegetation
" and Wildlife Resources

MurLtiPLE CHOICE QUESTIONS

Land covers 0nly coeeeeeses .. percent of
the total area of the earth’s surface.
(a) 20 “(b) 30

(¢) 40 (d) 50

Uneven distribution of population is
due to

(a) land characteristics

(b) climate

(¢) both (a) and (b)

(d) none of the above

Which are sparsely populated ?

(a) Deserts ~ (b) Plains

(¢) River valleys (d) all of the above
LandiS USEATOT ceinesseemsins 4,1 7 siutnl
(a) agriculture (b) forestry . - i
(¢) mining (d) all.of the abov

Which country has. the highest

percentage of land under crop-land?
(2) India ’

(¢) Australia (d) China

Which country has the ‘highest

percentage of land under pastures?
(2) India (b) U.S.A 0 o
(c) Australia (d) China
Which country has the highest
percentage of land under forest 2 |
(a) Australia (b) Japan
(¢) India (d) U.S.A.
The major factor of soil formation is—
(a) parent rock (b) climate
(¢) time (d) all of the above
Which factor led to soil degradation ?
(a) Deforestation | :
(b) Overgrazing
(c) Over use of chemical fertilizers

' (d) All of the above . o0

Vel ;

(b) U.S. AW ‘(C) Insects

10. In coastal and dry belts which method
of soil conservation effecive ?
(a) Shelter belts  (b) Contour ploughing
(c) Intercropping (d) Rock dam

11, ¢ diceiinessiis of the earth's surface is covered
with water.
(a) Half () One third’s
(¢) Three-fourth’s (d) Two-third’s

12. Water .is used for—
(a) Agriculture
(b) Industries
(¢) Domestic purposes
(d) All of the above

13. Which of the following is a part of

~ biosphere?
(a) Lithosphere  (b) Hydrosphere
- . (c) Atmosphere (d) All of the above
14. What does wild life include 2
== (2) Animals (b) Birds

(d) All of the above
1.0 2@ 3@ 40
6.0 7.0 8@ 9@
L@ 12@ 1B3.@ 14O

VERY SHORT ANSWER Type QUESTIONS

5. (q)
10. (a)

Q.1. How much area of the earth’s
surface does land cover 2

Ans. It covers only about thirty percent
of the total area of the garth.

Q.2. Name two factors responsible for
the uneven distribution of population.

Ans. (1) Characteristics ot the land, (2)
Climate. ‘

Q.3. How much land area does the
ninety percent population of the world

occupy 7
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Ans. The ninety percent population 0{‘113
World occupjeg only thirty percent of the Ian
area, ,

Q.4. Which areas are densely
Populateqd 2
| Ans. Plains and river valleys are densely
Populated, ,

Q.5. Name two major factors of s0il
formation,

Ans. (1) Parent Rock, (2) Climate.

Q.6. Name two factors responsible for
soil degradation, ;

Ans. (1) Deforestation. (2) Overgrazing.

Q.7. Name two methods of soil
conservation.

Ans. (1) Mulching, (2) Rock dam

Q.8. How much of the earth’s surface
is covered with water ?

Ans. Three-fourth’s of the earth’s surface
is covered with water.
: Q.9. Name two factors for water
degradation. ‘ <

Ans. (1) Discharge of untreated sewage.
(2) Use of pesticides in agriculture,

Q.10. Name two methods of water
conservation. ‘ :

Ans. (1) Rain water harvesting. (2) Use

of sprinkling irrigation system.

Q.11)What is biosphere ?

Ans. Natural vegetation and wild life
exist only in the narrow zone of contact between
the lithosphere, hydrosphere and atmosphere
that we call biosphere. :

Q.12.\What is ecosystem 2

ns. In the biosphere living beings are
inter-related and interdependent on ¢ach other
for survival. This life Supporting .system is
called ecosystem.

Q.13. What does wildlife incluge ?

Ans. Wildlife includes animals, bjrqg and

. insects.

.14.] What does the

growth ¢
vegetation depend on? .

e noisture.
5. The 819™""  1nd mois ‘
o tempers e forests broagj
pri marib"“(zg How af
ified ? . ¢ broadly classified 4
classift . Forests " forests. .
\ns _ _
= deciduo? areen forests ?
crgreen dl are eVers :
i Q.16. hat which do not shed the;
s o season of the veg

s. The iy
n neously in any

green forests.
gr TYPE QUESTIONS

W E Y

e the reasons behind the

lation ?

gt ion of popu .

unever/;dlstf}?]‘;nfouowing are the reasong
ns.

} ‘stribution of population—

behind the uneven dlsmbutlr(;phy’ I;t ; p slool

(1) The rugged toppg susceptibl
of the mountains, low-lying areas_ Ly p : e
to water logging, desert areas, thick forested
areas are normally sparsely populated. N

(2) Plains and river valleys offer suitable
Jand for agriculture. So, these are the densely
populated areas of the world. N

Q.2. What is land use ? What are the
factors determining the land use s

~ Ans.Land is used for different purposes

such as agriculture, forestry, mining, building
houses and setting up of industries. This is
commonly termed gg land use:

Jeaves simulta
are called ever

SHORT AnS
Q.1. What ar

factors Such gag pop
also importapg dete

Q3. W Minantg of land yge pattern.,

at ¢ aj i
tare the Major factors of soil

The followin, . .
ition. 1N¢ are the major factors

trock determines

' and char
1 chemjy Properties of

Reliep _ ..
: i} Alutude and g) -
o o). S10pe, determine |



